
2006 IBC Structural/Seismic Design Manual, Vol. 2
ERRATA � FIRST, SECOND AND THIRD PRINTINGS

Page 4, under Seismic and site data, first 2 lines now read . . .

Ss = 1.78g
S1 = 0.55g

Page 10, equation on line 6, under text paragraph, now reads . . . Ss = 1.78

Page 11, first text paragraph, line 2, change word �standard� to �simplified static�

Equation 12.14-11 now reads . . .
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under �where�
leave . . .

F = 1.1 for two-story buildings
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SDS = (2/3) 1.0 � 1.5 = 1.0

Ss = 1.5 max

Fa = 1.0 for Ss � 1.25 Table 11.4.1

The engineer can choose which method to use. This design example will illustrate
the Equivalent Lateral Force Procedure.

Page 30, under figure . . .
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= 3.0 nails

(nailing does not control)

Page 33, 8 lines from page bottom . . .

Number of 10d common nails required = 	��� 
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= 16.6 nails

where CD = 1.6 for duration of load
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Ss = 1.78g

S1 = 0.55g
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Ss = 1.78g

S1 = 0.55g
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Allowable load per nail is ZCD = 116(1.6) = 185 lb/nail
Number of nails required = 1374/185 = 7.4 � use 8
With nails at 1.5 inches o/c the length of strap required is
2(0.75 in + 8 � 1.5 in) + 6 in = 31.5 in

� use 32-inch-strap
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ZCD = 141(1.6) = 225 lb
With 2 rows of 16d nails, the number of nails per row is 3088 lb/2 � 225 = 6.8 nails

� use 7 nails

Maximum spacing = 48 in/(7 + 1) = 6 in
� Use 6-inch o/c for the flat nailing
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= FVCD = 180 � 1.6 = 288 psi . . . o.k.
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= 1000(1.6)(1.3) = 2080 psi . . . o.k.
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= 180(2.0)(1.6) = 576 psi . . . o.k.
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= 4.6 = 55 in
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�Use 3/4-in-diameter bolts at 48 inches o/c
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Ss = 1.78g

S1 = 0.55g



ERRATA � FIRST THROUGH FIFTH PRINTINGS

Page 10, mid page, add the word �where� after equation on line 4, under text paragraph

add new paragraph after next two equations . . .

In Section 12.8.1.3 the code places a maximum value of Cs for regular structures
that are five stories or less in height and have a period of less than 0.5 seconds.
The maximum value of Cs is permitted to be calculated using a maximum Ss value
of 1.5. This design example will use the full value of Ss = 1.78 and not the value
of Ss = 1.5 permitted by the code. Using an Ss = 1.5 would produce a value of SDS
= 1.0 and a Cs = 0.154.

the capital �L� in the four equations following �but need not exceed� have been changed to �1�

the second equation following �but need not exceed� has been changed to read �S1 = 1.0.�

Page 11, add new text after fourth equation . . .

In addition, equation (12.8-6) requires an additional check for Cs minimum for
structures that are located where S1 is equal to or greater than 0.6g:

Cs =
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However, this condition does not control.
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The engineer can choose which method to use. This design example will illustrate
the Equivalent Lateral Force Procedure, and the actual Cs = 1.78.
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The designer is required to check diaphragm forces in each direction. The design exam-
ple has only performed the check in one direction.

���� %�� mid page, add the word �where� after line 4 of equations; change 6th equation to read . . .

Ss = 1.78
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In Section 12.8.1.3 the code places a maximum value of Cs for regular structures
that are five stories or less in height and have a period of less than 0.5 seconds.
The maximum value of Cs is permitted to be calculated using a maximum Ss value
of 1.5. This design example will use the full value of Ss = 1.78 and not the value
of Ss = 1.5 permitted by the code. Using an Ss = 1.5 would produce a value of SDS
= 1.0 and a Cs = 0.154.



the capital �L� in the four equations following �but need not exceed� have been changed to �1,�
and the second equation now reads . . .

S1 = 1.0

Page 53, add new text after third equation . . .

In addition, equation (12.8-6) requires an additional check for Cs minimum for
structures that are located where S1 is equal to or greater than 0.6g:
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However, this condition does not control.
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SDS = (2/3) 1.0� 1.5 = 1.0

SS max = 1.5 max

Fa = 1.0 for SS � 1.25

The engineer can choose which method to use. This design example will illustrate
the Equivalent Lateral Force Procedure and the actual CS = 1.78.

���� �%� ����� ���� #���

� )��������� 	
��

����� ��	 ��
��
� 	��������� ��
 ��
����
 �� ����	�*

�#
�� ��������#� ����
� �

�� �#�
�� )
���#!!��	�#* �� )����!!����*

����� ���� �+	��
�
 �
 ����� ��� 
�� ���� � � �

The designer is required to check diaphragm forces in each direction. This design exam-
ple has only performed the check in one direction.

���� ���� add the word �where� after line 4 of equations; change 6th equation to read . . .

Ss = 1.78
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In Section 12.8.1.3 the code places a maximum value of Cs for regular structures
that are five stories or less in height and have a period of less than 0.5 seconds.
The maximum value of Cs is permitted to be calculated using a maximum Ss value
of 1.5. This design example will use the full value of Ss = 1.78 and not the value
of Ss = 1.5 permitted by the code. Using an Ss = 1.5 would produce a value of SDS
= 1.0 and a Cs = 0.154.

the capital �L� in the four equations following �but need not exceed� have been changed to �1�;

add new text after third equation following �but shall not be less than� . . .

In addition, equation (12.8-6) requires an additional check for Cs minimum for
structures that are located where S1 is equal to or greater than 0.6g:
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However, this condition does not control.

���� �.�� add the word �where� after line 4 of equations; change 6th equation to read . . .

Ss = 1.78
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In Section 12.8.1.3 the code places a maximum value of Cs for regular structures
that are five stories or less in height and have a period of less than 0.5 seconds.
The maximum value of Cs is permitted to be calculated using a maximum Ss value
of 1.5. This design example will use the full value of Ss = 1.78 and not the value
of Ss = 1.5 permitted by the code. Using an Ss = 1.5 would produce a value of SDS
= 1.0 and a Cs = 0.154.

the capital �L� in the four equations following �but need not exceed� have been changed to �1,�
and the second equation now reads . . .

S1 = 1.0

add new text after third equation following �but shall not be less than� . . .

In addition, equation (12.8-6) requires an additional check for Cs minimum for
structures that are located where S1 is equal to or greater than 0.6g:
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However, this condition does not control.
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(Per 12.8.1.3 Ss need not exceed 1.5. This was not used in this example.)
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Wwalls, long. = 75 psf (2 walls)(90 ft)(19 ft)��� ��
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